3/18/2021

National Testing Agency

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 1 Question Id : 8643514861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B TECH EK 18th March 2021 Shift 1

B TECH EK
2021-03-18 14:10:31
180

90

300

Yes

B TECH EK

1
86435155
0

180

No

No

0

300

No

Physics Section A

864351325
1

Online
Mandatory
20

20

80

Yes

1
864351325
Yes

1/90



3/18/2021
An oil drop of radius 2 mm with a density 3 g cm 3 is held stationary under a constant
electric field 3.55 x 10° V m ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drf}p will possess ?

Consider g=9.81 m/s”
Options :

7 10
86435114581, 173 <10

rr 10
86435114582, 173 * 10

s 12
86435114583, 172 * 10

11
86435114584, 10-8x10

Question Number : 1 Question Id : 8643514861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 g om > Xo0TZod 2 mm gxT o BN NIFT ©=[0 o B3 TodeenzQ
3.55x10° V m l%ci AT, §¢§d Sl lewl) %pdmﬁ&a_o‘;d. %@ T BROOVET BWIO
ANy Tob, o@D ? (g=9.81 m/s?20T TORIAD)

Options :

rr 10
86435114581, 170 %10

rd 10
86435114582, 1-72 > 10

s 12
86435114583, 170 <10

11
86435114584, 18-8 <10

Question Number : 2 Question Id : 8643514862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A constant power delivering machine has towed a box, which was initially at rest, along a
horizontal straight line. The distance moved by the box in time “t’ is proportional to :
Options :
86435114585, /7
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/2
86435114586.

(2/3
86435114587.

86435114588. ¥

Question Number : 2 Question Id : 8643514862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ATTT QW D30 oy Jrod, K90, vt STeEnY LIWESARYT, FRWSVTNDLE
meo Teadod tf‘n:actj_'jﬁ.r:;{ U ATORTY TRICWOT 0B WOITH N UTRITYTREA.
Options :
86435114585, /2

{1/2
86435114586.

{2/3
86435114587.

t
86435114588.

Question Number : 3 Question Id : 8643514863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :
(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
" /—/mm
C
-=—"00000 7000000
i
D
Options :
86435114589, 1 T
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86435114590. 3

86435114591, 0 T

86435114592. e

Question Number : 3 Question Id : 8643514863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
$BY 3ReOATWTOZ 2.085¢ dedad LUBT Tow), BRSTOINTIT A, B, Ca3 Drigd JTHT
HoWEE BODH. A FeoTEIYHT FwoBeI) 3 T 8NTT, C deomnodm Eedxy)
QIS (SobAoSeoD e Bod BeSTOITFNY JOWSA AeITNDS)

B
A m
0000 00—

D

Options :

86435114589, 1 T

86435114590. 3

86435114591, 0 T

86435114592. e

Question Number : 4 Question Id : 8643514864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-'clic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A D
200N/m2-=-----~ <
T\
|
100N/m2{----———- . A
B! I I
| | |
| | |
P : 3
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
1 3 4
—>» V (m?)
Options :
86435114503, 100
86435114594, 200 ]
86435114595, 200 ]
400 ]
86435114596,

Question Number : 4 Question Id : 8643514864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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wiead Tgodhod ©RODY IFoWST HTT[TER STWIF ©IO JJFoH P-V JeamwsgmT)
23309 3ecdrchd. wmeddiod Tododnd CD vxmodY SRaT 3oIx) (y=140%3):

A D
200 N/m2 f===--=~- <
N K
100 N/m2 |- - -——_ AN
B | | |
| 1 |
| | |
P | L
| | |
| | |
| 1 |
| | |
| | |
| | |
| | |
| | |
| 1 |
1 3 4
— % V(md)
Options :
86435114593. #0]
86435114594. 500 ]

86435114595, 200 ]

400 |
86435114596

Question Number : 5 Question Id : 8643514865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented by :

Options :
86435114597.
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= x
2 __.-'"'f-
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2,
—» t
86435114598,
4
gl «©
Q
N
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86435114599,
g «©
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2 e
—
86435114600.
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Question Number : 5 Question Id : 8643514865 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Efpd ﬁ'ﬁﬁﬁ;f@éﬁz—‘&qoaﬁ ﬁ-ﬁﬁ%&:j 1300w m{pﬁ;, =en ma_: ISETL?EE&?AFH@;"-,«T%  [od
TERQRW TR,

Options :

86435114597.
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Question Number : 6 Question Id : 8643514866 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to

cha_ngc- from its maximum to the rms value is :

Options :

25 ms

86435114601.
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86435114602, = ™S

86435114603, 020 MS

86435114604, 2 S

Question Number : 6 Question Id : 8643514866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

220 V,50 Hz 20T T0 SIRTBOT 24 [DROTH, i@f@“ﬁa; AOTWEFRCONT. T@odey WTT
plep(aleln rnwm’aﬂéﬁz WTCVOVAL SNBLOTB AL :

Options :

86435114601, =° ™S

86435114602, = ™S

86435114603, 20 MS

86435114604, 22 S

Question Number : 7 Question Id : 8643514867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed at a distance of 0.5 m from them. The distance between the first and the third ‘ﬂright

f ringe formed when the slits are illuminated 'm, a monochromatic Iight of 5890 A is :
Options :

ri 12
86435114605, 1178107 = m

86435114606, 2890 x10" " m

- 9
86435114607, 1178x107 " m

1178 10" ® m
86435114608.
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Question Number : 7 Question Id : 8643514867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CROT'D QAL 208 FWAONY AenvaER, (.5 mm S0TTHOT WeHFRATRMIT @&
TOBoD, BFNEOT 0.5 m BROTY ROITerIB. 5890 A DITJeFT ITIN0T esdRiTED,
BYNATON TRTMROB 2.0THe DB TDRTHE TFTF LOENY IHDOT ¥OoST :

Options :

12

86435114605, 1178107 *“m

86435114606, 2890 x10" " m

- 9
86435114607, 1178x107 " m

1178 10" ® m
86435114608.

Question Number : 8 Question Id : 8643514868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :

Options :

86435114609, © times the mass of e

— times the mass of e
86435114610, 16

86435114611, 16 times the mass of e

3
— tHmes the mass of e

86435114612, O

Question Number : 8 Question Id : 8643514868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2.0 Bees) W|ETINCS 4 ey, Henmen BIWIE. o FRD @-We)) STOMROSTD
BT VIR T HIR0ON 2: 1200 NdkATT, BT TRT8 LeNTIT :
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Options :

e~ Tod0odh 8 =D
86435114609. b

86435114610.

e~ Todod 16 Ted
86435114611. e

e~ Todod TR

oo =

86435114612.

Question Number : 9 Question Id : 8643514869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = ZTFJI. The measured value of the
&

length of pendulum is 10 cm known to a 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy

in the determination of “g" using this pendulum is “x’. The value of “x’ to the nearest integer

18,

Options :

2%
86435114613.

3%
86435114614.

4%
86435114615.

5%
86435114616.

Question Number : 9 Question Id : 8643514869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A0Y dneowsn sSmsF ATORBIW, T = 27 L 2oz VEBRMBE. dRe0FT NHE w9

[P 1 mm ADTIR 10 cm SH3, SRewsT E[![Jeod@mdﬁ'@ meoody 1 Adow TpIoee
NARTRL, wIrseom® 100 FEo®nFom FoMWHLIT. 38 SreLIT™, WYL ‘g’
DFFOMWBY FeFFTOW DT ¥ SNB. TITT TIR@oF 0B ¥ B IPOPY ¢

Options :

2%
86435114613.

3%
86435114614.

4%
86435114615.

&=
86435114616. it

Question Number : 10 Question Id : 8643514870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435114617, 10 ¢V

86435114618, 27-2 €V

86435114619, 1.2 eV

86435114620, 251°-2 €V

Question Number : 10 Question Id : 8643514870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TRERCERT TTSTED F_‘:'E“"f O, PRIT® (1) VOT WTTNRIFRMHIT 20T TR,

# i

DRT 3T T[T faﬂﬁ'gp*‘ﬁos 207 3, maﬁ 8035y }UTRT® e 3¢ ATRTTNTIT
81 DERNT TOSWEDLT BIRATTD WIFF LeNWITT
Options :

86435114617, 106 €V

86435114618, 27-2 €V

86435114619, o2 eV

86435114620, 5192 eV

Question Number : 11 Question Id : 8643514871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent decay processes having half lives

® T{z} _ | e g
1 and 1 respectively. The effective half-life, TI’E af theandel 14
Options :
T 1Y)
T 2 /2
86435114621. /2 /2
TI"E = Ti 1} I Ti 2}
86435114622, /2 72
Til} | T': 2)
= 2
86435114623. % !
6435114624 None of the above

Question Number : 11 Question Id : 8643514871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. @ __ 7@
QE0rRdee [IPTO0I Bowon Tl»"ﬁ BNV Tlfﬁ gendm, TROHITW JTH FT0Z BOWT

TFoPNTOT VPHIJCITNST. TRIODIY TOFDTO LTFOWY :

Options :
T 1Y)
TI pi= —2 2
Fi s Tlﬂ} | T_F—}
86435114621. ’2 /2
' (1) . (2)
TL'E =7 Tlf_,
86435114622, /2 /2
(S
o /2 /2
Ty = J0 Lo
1/ 1/
86435114623. L
edE OIRPYTR B
86435114624, =

Question Number : 12 Question Id : 8643514872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.
Options :
86435114625, shape of the loop remains unchanged

26435114626, Inop assumes circular shape with its plane normal to the field

26435114627, loop assumes circular shape with its plane parallel to the field

86435114628, wire gets stretched to become straight

Question Number : 12 Question Id : 8643514872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

14/90



3/18/2021
PUODNT STIT AWNF THTIW, wOW3HT 00D BeIFoD, T, TOSFIIY
BOZTANT. oo S FeFHOHT TOTOITIZ, L SA.

Options :
86435114625. Birfecl: el mcicoraRoe

Fe30 Aot oowtetin Deddoln @¥irodh STUSW, BORBAT
86435114626. =~ . = =

P30 AIBOE ARROSTIY Heddodn wWI0N STODW, WOTTBAT
86435114627, = s = = el

2o3oin Fedawh afoboDmPm
86435114628. w

Question Number : 13 Question Id : 8643514873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 200 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435114629, -9

86435114630. 7.3

86435114631. 8.4

86435114632. 3.0

Question Number : 13 Question Id : 8643514873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L8 QodaEdE Fodeend@ 10.0 cm BT OB 5.00 mm THAT [HIT BRENTY 5.0V

QPTOITITW, YZWATRDIT. TITY ©v¥E IRECT TeTH 200 ASKT.  HTIC
SRerEdody Nnox eDPSMT FeTF[TL BT
Options :

86435114629, 29

15/90
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86435114630, /-2

86435114631, 54

86435114632. 3.0

Question Number : 14 Question Id : 8643514874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time perind of a satellite in a circular orbit of radius R is T. The perind of another satellite

in a circular orbit of radius 9R is :
Options :

86435114633. <

86435114634.

3T
86435114635, 2/ |

12T
86435114636.

Question Number : 14 Question Id : 8643514874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

$%, R 2500 FBODYWS INEE o=3F oy TeNd. 9% IRS S Z]e00
FHODOTT IR0 NTNTD SBIF T

Options :

86435114633. <

9T
86435114634.

86435114635, <*

86435114636.

16/90
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Question Number : 15 Question Id : 8643514875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher
value :

Options :
86435114637. The resonance frequenc:f will increase

26435114638, The bandwidth of resonance circuit will increase

86435114639, 1he quality factor will increase

The quality factor and the resonance frequency will remain constant
86435114640.

Question Number : 15 Question Id : 8643514875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A0 LCR omdns mhododg, o SpegTd, SR IR DPeHT TS ﬁu’?’qﬁ;
LTCROWVATT
Options :
“ahTres Stons) BIT
86435114637, — " D BT

©hTre VOBOT Tt Lnoy) TS
&l =L

86435114638.

TEeTTBn) BB
86435114639. e

T8 2 RNTnd STony LOode STTNTST
86435114640. - =2

Question Number : 16 Question Id : 8643514876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435114641 Myopia and hypermetropia

17/90
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86435114642, T resbyopia with Astigmatism

86435114643, £ 'stigmatism

86435114644, Myopia with Astigmatism

Question Number : 16 Question Id : 8643514876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R, :‘Gﬁ&@ﬁ:ﬁ ﬁz:éea Ty ADE, 98, B[ TROUT DICHTT $WI0H WOOODI, ATTN
seeEen TGTMLEY ) BT BTN LIRTIYD D, deTmN FEWET. Jc.im
xmﬁémm% o Q0Th Qe odATT.

Options :

D odpetod DI BTo iR LoD
86435114641.  © = -

Fo

Taolredod BR3ER wimeiizo

N
£
i

86435114642.

93
86435114643, = ¢

= odredoim BREn dmidzo
86435114644, 9 il

Question Number : 17 Question Id : 8643514877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in

thermal equilibrium at a temperature T ? (k; is Boltzmann constant)

Options :

kT
86435114645,

kgT

M| =

86435114646.

k3| w2

86435114647.

18/90
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2
86435114648,

Question Number : 17 Question Id : 8643514877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S TIQ FgAshdecodng sUlF waomN, Lo MBOoHR, 030 wwed J3oh TCXd

-] '

[PL, ORI ? (kg 2020 Brew, TS ngmoﬁ}
Options :

kT
86435114645.

’ |
86435114646.

3
86435114647.

2
86435114648.

Question Number : 18 Question Id : 8643514878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - | with List - 1L

List - 1 List - 11
(a) 10 km height over earth’s surface (i)  Thermosphere
(b) 70 km height over earth’s surface (i) Mesosphere
(c) 180 km height over earth’s surface (iif) Stratosphere
(d) 270 km height over earth’s surface (iv) Troposphere
Options :
aea3s1 14640, @), ()i, @G, (-0
ceussi 145, @D, (DD, (O-), @-(v)

19/90
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86435114651, @), (b)-(1), (c)-(iv), (d)-(iif)

26435114652, @r(D), (0)-(iv), (c)-(iii), (d)-(ii)

Question Number : 18 Question Id : 8643514878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ted - 1, T - [1Te0OR BRODAD :

ﬁ% N l a% o I.I.
(a) gPeonad Hhed 0 10 km HITEY (i) heer 200D

(b) Peiwod Hed 0 70 km HITTY (i) DAEreAWT
(c) Powod ed oD 180km2ITTY (i) FPEAREACHT

o

(d) Hwaooh oe

&

)
¢ @ﬁﬁ 270 km L2TTY (iv) HRFRAODT
Options :

86435114649 @), (b)-(il), (c)-(ii), (d)-(1)

36435114650, @), (OH). (1), (d)-(iv)

86435114651, @), (b)=(1), (c)-(iv), (d)-(iii)

26435114652, @1, (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 19 Question Id : 8643514879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 100 MHz is travelling in vacuum along the
—_— M Fa¥

x-direction. At a particular point in space and time, B = 2.0 x 10°® k T. (where, k is unit

s

vector along z-direction) What is E at this point ?

(speed of light c=3x10° m/s)
Options :

06 j V/m
86435114653.

20/90
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86435114654, -0 1 V/m

6.0 k V/m
86435114655.

86435114656, 00 K V/m

Question Number : 19 Question Id : 8643514879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 MHz 85300 330 QEB0deon VO +O3FQ JTFINY IS, 7Y

B THoDT woth AOFT VOAFO B = 20x 1072 k T. (k S020m z-0339 LITRI
- ) X} [ =

AOT). B, DoDARY E oz, ?

(3983 Sen c=3x108 m/s)

Options :

06 j V/m
86435114653

86435114654, 00 1 V/m

6.0 k V/m
86435114655.

86435114656, 00 K V/m

Question Number : 20 Question Id : 8643514880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The
angular speed of the ring will become :
Options :
M

m ¢ e e et
M+ m

86435114657.

21/90
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M
- M+ 2Zm
86435114658. =
M — 2m
=
M+ 2m
86435114659,
M 4+ 2m
by ——
86435114660. M

Question Number : 20 Question Id : 8643514880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ORoed Ma@& 8% rd SWRT R ZIWOS YLoTulsy) 9T wgd AT BRECH [N
deohni STmed. T3oIeom THOS m BROOTT! HTW BNYE), S AT LG,

-,
RoNYY BeRITING. LLOMTD deedeod denwy)  STSE.
Options :
M
> M+ m
86435114657.
M
y ——
M+ Zm
86435114658.
M —2m
=
M+ 2
86435114659, =
M+ 2m
by ——
86435114660. M

Physics Section B

Section Id : 864351326
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351326
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514881 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifier with a power gain of 10°. The
input circuit resistance is 100 {} and the output load resistance is 10 k{). The common emitter

current gain ‘B’ will be . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514881 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

npntRAIT FBPT, DARFT SOYPHODT SN 10° P FNeEciR0ON Fo0RF ATF LRI,

"
& o

gRE DOBOT TRepy 100 12D ANFS Sred® dregmy) 10k, mERT, LARFIT JRD
nes B Shdes (2200 Eﬂm?oﬁ"ﬁ; TROFNRTAR)TN)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514882 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/90



3/18/2021

A ball of mass 10 kg moving with a velocity .]{]\E m/'s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30” with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y- axis 1 piece 1

v1=10m/s
\K’ X - axis

U2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514882 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

93T GUTBR, 103 m/sSendeodn BOMILT 10kg TodaR WO, DILBALYTT 20 kg
To80d HIROT BoBR, BRECINITT. TOTLHOD J03T JATY o LFWOST WA
) HTRe 80w QTR [P DOWNTON PFoIRDIB. 2.0 oW y-HIT NTER,
10 m/sSBensg 8O0 TOoRIE. oHTBFSe o x-@iﬂ.@-oﬁﬁ 30° 3ResTg WOReD
Gapfeletartcial x-&:iﬂ.@-oﬁﬁ 30° 0@ WIS BoBT Hent xm/s SHT. ToPeiZod Fo3T
oY FoTWBoD, FINT 13ZRY Fec0AT. TITT Temorosy ¥ T I

¥ axis Piece 1
v =10m/s

» X -axis
30°

Uy

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643514883 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 () resistor in the given circuit is x volt.

50 )
—VVWV Wy ?
— 20 Q)

;
170V ’

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514883 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VERWLS AINF DoBOTY 10 L TRPULWS LPDY xpeT, SNT.
50 (1

— A —

10 O 20 2

170V

s

TETT BRHFoITY ¥’ S HSodw

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643514884 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M
o

B

10m

gut face

Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of ‘x’ to the nearest integeris .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514884 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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B

10m
5m

"m::rf‘In'fa*"-’ﬂw:.’L

Eﬂf "(’aﬂe

10 kg BRO2800TH 3eosy) $3ZHY 3pc0ATLTOZ A ROTRT edd.  FRSTW, IO WORNE
TR TQURRATRN 8T BOT TRIOPWIT I BROWRI), 30TIT. 3T JIenD B
ROWATY x m/s.

(=10 m/s*?20 SRNIRT)

TETT TRWOFOITTY ’'T WSow . shmESs.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514885 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle perf Orms simple harmonic motion with a perind of 2 second. The time taken h}-‘

the particle to cover a displacement equal to half of its amplitude from the mean position is
a

— &.
da

The value of ‘a” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514885 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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gronpotd 2X4507 umSrmon AoY Hond m;&mmﬁowm@d. grom) WOoRO mTboT

E4alete ECS&JE:S @pﬁ:‘#kﬁmﬂ E&E@Cﬁﬁ; SNCNBROE A0 ga ShHo.
E%dd TWRFFCIEY ‘a’ob @WSadw  &hoymb.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514886 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3 uF 5 MO
| | AAAAAN —
|

q=30 pC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 puF and a charge
of 30 nC. At time t=0, when the key is closed, the value of current flowing through the

5 MI) resistor is ‘x” pA.

The value of ‘x’" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514886 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3 uF 5 M0

| F—AWW—

\

33T Spcdathzod mom@a; 3 wF goTsd &0 30 uC SHeTTW, BROLIT SBeIPOI
DoUBIE, BROOTIWE. 5 M) Seeginy AWM THTT TOPY) t=0 BOTY, sedodm),
@oegmen ¥’ pA STpvcin

TEOD TemerosnY xS ddo . sShTPHT.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514887 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘x" m/s.
The value of ‘x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514887 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.8) JBOO 10 m/s BBTQ 120° 3pesTY TRET DITY 8wz Sedwoh, SHhob aamcgg
03T ABROW WHODW, IWIWE. TTOITT HIH) ‘¥’ m/s SNT.
TE0T TemerodTY 2'J Hdow . 8ShEs.

Response Type : Numeric
Evaluation Required For SA : Yes

29/90



3/18/2021

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643514888 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are

subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B
: _ a | _

are in the ratio of a : b. Then - can be expressed as = where x is

b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514888 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27368 FoSnvmy, 2 N wOBRYTIBY THweN 2mm I, 4 mm IR, LNAIRND.  2TER
Eoén@;’m% 2Ot §P33 JTF QoW 300l ot vwhICHAD A Bodod SmW A

) ) ) ) . _— ’ ) _— g _— . T —_—
3030W gﬁaﬁ m'ﬂ% Eﬁiﬁ A mﬁi Baodock t‘“ﬁ-%ﬁ goimodw) a: bshn. #0320 1_’! ma‘.-‘%

z ]

% SeTTQOATN x 8 WSodn
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514889 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallel plate capacitor has plate area 100 m?> and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is “x" pF.
The value of £3=8.85x10"12 F.m !
The value of ‘x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514889 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2,000 IBPOBT FOF T FOBNY Qe 100 m? DI Fosm, Qon@amen 10m &R,
TOENY AT mﬁﬁﬁ}"% 5 mTTLTS tﬁﬁ qﬁi_ﬁf ;—*Epmoﬁ 10 athal TeTrhot DOWSHAT.

I@Fod AFY FessIodd ‘¥’ pF.
(gp8 WSodw 8.85x10 2 Fm~1
TETT TRHoFCITY AT S . shdEd.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514890 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is

10 m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding
force on the bullet is ‘x” N.

The value of ‘x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643514890 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T@oed 0.1 kg 30D wol TROTE, WU JONCIRTN JRTWOT ARAW, ST € MO
50 cm ©TORYN WOA VOST. WUDW, JBRTWCINPYTE, =0T, OB :SHQ 10 m/s &S

AENTRT DFeMTTRFDROON ATRTNRORBT, ol Heds TOFRT0 CRIDLOT TR
¥ Nesho
=300 TIemerosng ¥ WS . shoomdh.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351327
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351327
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound
is :

Options :
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86435114671. i

86435114672. :

86435114673, MA3

86435114674, MaA

Question Number : 31 Question Id : 8643514891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qodseone oo, A PodT JT=oeRdnd hep dﬁéﬁm@ TRRDIY DI M RDITHND
hep Twziong 2/3 Tm, 1¥20anr Decd BRANYY Acthazy. QOIRONE WOWINBT AR :
Options :

M,A

86435114671, > 2

86435114672, Va3

86435114673, MA3

86435114674, MaA

Question Number : 32 Question Id : 8643514892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

[
w

86435114675.
86435114676, P

86435114677.

3p
86435114678.
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Question Number : 32 Question Id : 8643514892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

200 DY BFIP JecReod S (DJ|OT) MY, TROOTT HTE SeEeod TINTRY
BLRODT. 3BT

Options :

[
W

86435114675.
2p
86435114676.

86435114677.

3p
86435114678.

Question Number : 33 Question Id : 8643514893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) Cull,
(c) Cracking of hydrocarbons (iif) Particles ‘N’
(d) Hydrogenation of vegetable oils  (iv) V,0x

Choose the most appropriate answer from the options given below :
Options :

86435114680, @), (b)-(ii), ()-(1), (d)-(iii)
26435114681, @)-(1i), (b)-(1), (c)-(iv), (d)-(ii)

86435114682. (@)-(i), (b)-(tv), (c)-(1), (d)-(ii1)

Question Number : 33 Question Id : 8643514893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

T - 10 Bed = - 11 3, BeodA.

=3 -1 = -1
(D) (3oinTgre)

(a) @I QT (i) ZSM-5

(b) TeOERE (FOTEF) LPOTI (i) CuCl,

(c) TFRRWWFING 2eDD? (i) Nigearish

(d) ABHD QMY T@pewDEETe  (iv) Vo045

$ONT SoNRYY XRY LITIT), SO
Options :

86435114680, @F(IV), (D)-(ii), (c)-(1), (d)-(iii)
26435114681, @)-(ii), (b)-(1), (c)-(iv), (d)-(ii)

sea35114682, (1) (B)-(IV), (©)-(0), (d)-(i)

Question Number : 34 Question Id : 8643514894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ionic radius of Na* ion is 1.02 A. The ionic radii (in EL] of Mgz Fand ABY, respectively,
are :
Options :

86435114683, 0-85 and 0.99

86435114684, 0.72 and 0.54

86435114685, 0-68 and 0.72

86435114686, 109 and 0.99

Question Number : 34 Question Id : 8643514894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Na* ©03nds eobeds @ 1.02A ond. sdoon Mg?t @3 AP ecdwsine
©0IRIT SewND :
Options :
36435114683, 000 0%, 0.99

0.72 &Had 0.4
86435114684. =

86435114685, 08 ==, 0.72

86435114686. nee o i

Question Number : 35 Question Id : 8643514895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435114687, bauxite

86435114688, Laolite

86435114689, —Alamine

86435114600, —TYOlite

Question Number : 35 Question Id : 8643514895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QEIED ToB®

PORWMLONTF TTR DRETN FOIRITET Tueste  WOmER

5
-

oMol :
Options :
eIo8 85
86435114687. -
E@G%&&*‘
86435114688.
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59,0053, 5°
86435114689, < ¢

3odpedtF
86435114690.

Question Number : 36 Question Id : 8643514896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason K :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435114691, Poth A and R are true and R is the correct explanation of A

86435114692, both Aand R are true but R is NOT the correct explanation of A
86435114693, A\ is true but R is false

86435114694, A 18 false but R is true

Question Number : 36 Question Id : 8643514896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3O QTW TeednTmd, VEBOONT : 20T, JIWWUF A 20T DIROD WIP R NS

Temmos A:  ZTOT MDAWIT 2edd DL, MgHCO,), @ MgCO, sh omF
SRR
%Cr? R Mg(OH), & Q9e3zardeoonsm MgCO, Nod Fwphd.

e m’e@ﬁr‘:@ém% NI, BRT LUITIZ, N Bﬁ%ﬁ@g &203.
Options :

A DB R unhE D R 3 A R 500iRT QmTRoinnd.
86435114691. = =
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3¢

el

A3 R AETNE STO R 3 AR ROOIRT ORN0E &
86435114692. =

A Dxmohs =00 R 3zRA0.
86435114693. e

A 253903 =00 R Dz,
86435114694, =

Question Number : 37 Question Id : 8643514897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List- 1 List - 11
(a) Ca(OCI), (i) Antacid
e "
(b)y CasSQ, - EHZO (i) Cement
(c) CaO (iti) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :

86435114696, (@)-(ii), (b)-(ii), ()-(i), (d)-(iv)
86435114697, (@), (B)-(id), (c)-(iv), (d)-(i)

86435114698. (a)-(iit), (b)~(iv), (c)-(ii), (d)-(1)

Question Number : 37 Question Id : 8643514897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

38/90



3/18/2021

T -1 B, T -1 T #¥ed Beodai.

3 , T
ot E R | T -11
(a) Ca(OCl), (i) eHSRGE
1
(b) CaSO, - EI—IED (i) ashosr
() CaO (i) Qe (REOTPTLTD)
(d) CaCoO, (iv) TRIC* UT* ROX

39NE SORNPY Reg evITTE, O,
Options :
86435114695, @r{), (B)-(iv), (c)-(), (d)-(i)

86435114696, @) (ii), (b)~(ii), (c)~(1), (d)-(iv)
86435114697, (@)(iid), (B)-(ii), (€)-(iv), (d)-(i)

86435114698. (@)-(iit), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 38 Question Id : 8643514898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :
Options :
86435114699, 1

86435114700, 2

86435114701. 0

86435114702, >

Question Number : 38 Question Id : 8643514898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TR0 ¢ 30 SHd) Tomas wend SEhan dohohd evothrg vvddchd somwtha
) el I . ) [, — [ P [
©OIPACTTEITOMD BBRBT NG 05,000 :
Options :

86435114699, 1

86435114700, 2

86435114701. 0

86435114702,

Question Number : 39 Question Id : 8643514899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List-1 List - 11
(a) Chlorophyll (i) Ruthenium
(b) Vitamin - B, (i) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435114703. {a]-{ﬁi], {b]-{ii], {C]‘{i‘-’]r {d]-{i]

26435114704, @) (1), (b)-(ii), (c)-(i1), (d)-(1)
26435114705, @), (b)-(ii), (c)-(iii), (d)-(i)

86435114706. (a)-(iv), (b)~(iii), (c)-(i), (d)-(i1)

Question Number : 39 Question Id : 8643514899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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W -1 W -3 B Beedad.
=3 -1 meg - 11
(a) Bgedeede i) oogcRoR:F
(b) Q0T -B,, ii) TRLRIF

(c) SouRTT BIQ i) SReTOS,

(
(
(
(d) 0w Sen=ges (
FYRT &mﬂ@@ RETIT YOSTH[T, SOAD :

iv) S euoDET

Options :
26435114703, @)»(i1), (b)-(ii), (c)-(iv), (d)-(i)

86435114704, @), (b)-(idd), (c)-(ii), (d)-(i)
86435114705, @), (b)-(ii), (c)-(iii), (d)-(1)

86435114706, (@)-(), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 40 Question Id : 8643514900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,),| and meridonial-[Co(NH,),(NO,),], respectively,

are .
Options :
Ph3P\ /Br | /T\'H:_.,
and
Ph3F/ \Br OEH/P!.‘H\NH?’
86435114707. 3

Pth\ /Br e NO,
\I
/ . " on I NN,

NH,
86435114708.
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PhyP \ / Br
/ \PFh

86435114709.

P}.'I3P \ / Br

d
Ph, P/ \Br = DEW/ILH\ NO;

86435114710.

Question Number : 40 Question Id : 8643514900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

0N 85075~ [NiBr,(PPh,),] 333 H0BReR0DS ~[Co(NH,),(NO,),] n¢ =ooswns

_‘ 3

T3

Options :

Ph;l—" \ / Br

Ph;P / \ Br
86435114707.

PhE.P \ / Br
v Sy

86435114708.

Ph—,,P\ /Er
/ \PPh

86435114709.

3

| /
Dzw/ | \NHS

HN TDE NO,
Co

= DEN/ | \[\'H3

NH,
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. N
PhyP N A Br O,N |

Ni i \L

I‘}ha P / Br - DEN /

86435114710.

Question Number : 41 Question Id : 8643514901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields
(C) methane is a stronger global warming gas than CO,
(D) methane is a part of reducing smog,
Choose the most appropriate answer from the options given below :
Options :
86435114711, (A) and (B) only

86435114712, (&) (B), (C) only

26435114713, (B) (), (D) only

86435114714, (&) (B), (D) only

Question Number : 41 Question Id : 8643514901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FPNTYNYY FoodnT Jewdnsh :

(A) DFPer s WIT[RI (VAOREHDE) DA, DICWODT FAMPSY A0BEIR
Do mET Sovia

(B) %3 Broneod dFes® RERNBORIR.

—

C) nFex® monds Racdhethadohd CO, hod Tpo WAVTNT.
(D) NG wTEHEFT PRIFBYD Honwmend.
39NT SoRNYY ARTHT WITID, SOA :
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Options :

(A) =
86435114711. =

86435114712.

, (C), (D) @233
86435114713. ®). (©. (D) =

86435114714, (&) (B), (D) =32

Question Number : 42 Question Id : 8643514902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;H,O can show :
Options :
86435114715, Positional isomerism

26435114716, Functional group isomerism
86435114717, Metamerism

86435114718. Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643514902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GHO Rrgm)¥, Aooings) SRt0AuQm ¢
Options :

86435114715.

86435114716. —

86435114717, SoLIRR0T2
Aol TWRPONS 23 eNtFN0E HUEIR,
86435114718. = 2
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Question Number : 43 Question Id : 8643514903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (if) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) wused for (-elimination reaction
(d) Polyacetylene (iv) Lindlar's Catalyst

Choose the most appropriate match :
Options :
86435114719, @), (B)(0), (c)-(iv), (d)-(iii)

86435114720, @) (L), (b)-(1), (c)-(iv), (d)-(ii)
86435114721, @)r(i), (b)-(iv), (c)-(i), (d)-(iii)

86435114722 (@)-(iii), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 43 Question Id : 8643514903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T -1 0 A3 T - 11 &), dneda.

zeg -1 =y -1

(TTRCLEN:) (evzciaen/3cindd/Dociaen)
(a) ©dRemdy JRiPAONO FWE & () WLONTY @tﬁi@j:ﬁ =h evziodeen
(b) Pd/BaSO, (i) =odos T3sohowon JEabITD
() BHC (domes Sm0sged,w) (i) P-DF=FS J3soDoDY evTodeeN TP
(d) O De (iv) SomgT’ Sen=ges

SINT SOiyivY ARETT TROLFOD®, S04,
Options :
86435114719, @i, (B)-(1), (c)-(iv), (d)-(iii)
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26435114720, @)(iL), (B)=(i), (c)-(iv), (d)-(ii)
86435114721, @)-(11), (D)-(iv), (c)-(1), (d)-(ii)

86435114722 @)-(i), (b)-(iv), (c)-(ii), (d)-()

Question Number : 44 Question Id : 8643514904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, C;H-MgBr with C;H O followed by hydrolysis gives compound
“A"” which reacts instantly with Lucas reagent to give compound B, C;3H;;CL

The Compound B is :

Options :
Cl
CH,
86435114723.
CH,
1
86435114724.
Cl CH,
CHjy
86435114725.
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CHjy

CHj

s

86435114726.

Question Number : 44 Question Id : 8643514904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NTo@Es ©RTeos : CHsMgBr &), CgHO #ed S8ra Zoodg ‘A’ olddl, dnmlm.
gt srEde L LNFTIE B TaFA Mocins B, C)H,,Cl F‘"‘E QETWFT.  FOcINE

‘B’ o3 :
Options :

Cl
86435114723.

CH,

O/(L
86435114724.
Cl CH,4

86435114725.
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CH,
Cl

CHj

86435114726.

Question Number : 45 Question Id : 8643514905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,O H,O
i ] ai f’\ i ]
H H* 4
(Major Product)
Consider the above chemical reaction and identify product “A” :
Options :
: ~CH,NH,
86435114727.
: ~CONH,
86435114728.
i
: .C=N-OH
86435114729.
: ~CH,NO,
86435114730.

Question Number : 45 Question Id : 8643514905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

COOH
_HO ., I IQG
—HT

(0D Erua‘sﬁ)
SedT Fodohay, TOMeda, wgF, “A” oD, FoRWLBAWD.
Options :
CH,NH,

86435114727.

CONH,

86435114728.

i ,(. N—0H
86435114729.

86435114730.

Question Number : 46 Question Id : 8643514906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,

Alkaline KMnQOy, B
H 1 -~

X.‘f

OCH;

Considering the above chemical reaction, identify the product “X" :
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Options :

CH,OH
X_
86435114731, OCH,
COOH
X -
OCH,
86435114732,
CHO
_){_
OCH,,
86435114733, :
CH,
X -
OH
86435114734,

Question Number : 46 Question Id : 8643514906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hj

F30e0d KMnO,
4
- g

}- H’X!.f

CH;

BedT Fohob, wRnERedA, WIZ, X" W, MTIAD.

Options :
CH,OH
X_ &
YCH
86435114731. OCHs
COOH
X _
86435114732. OCH,
CHO
X .
86435114733, Gk
CH;
n =
OH
86435114734,

Question Number : 47 Question Id : 8643514907 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
H,C CH
3 \\N ¥ 4 3

Hy

NaNO,, HCl
} . K 55 }__ & Y."f
273K -278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
< s NQ
. _~CH
and O/ N~ 3
86435114735. CHy
T }J**rqffAi;:::::>
and U N
ij ~ \CHs
86435114736. CHy
N2 Cl™ Jit
d %
86435114737.
= CH,4
and [:::i:::[f’ \Ej{
3
86435114738.

Question Number : 47 Question Id : 8643514907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H-C CH
3 St 3
Hy
NaND:;_., I.IC]- IR YL
273K — 278 K (ZF0D o33 (T wugs)

S0 odhobay, Boredr, X B Y ned Fon

Options :

N, Cl™ Ny

N

Cl
s
o O/ \

86435114735

86435114736.

86435114737.

Cl cH:
I z
- O/ CH,

86435114738

Question Number : 48 Question Id : 8643514908 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid i) Nowvestrol

(

(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iif) Valium
(d) Tranquilizers (iv) Alitame
Choose the most appropriate match :

Options :

sea3s114730, @), (B)-(¥), (©)-(id), (d)-()

86435114740, @ (1), (B)-(v), (€)-(i), (d)-(iii)
26435114741, @)F (W), (b)-(i), (c)-(1), (d)-(ii)

86435114742, @)-(W), (b)-(iid), (c)-(1), (d)-(ii)

Question Number : 48 Question Id : 8643514908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T -1 WD, T - 11 T B3 TeodA.

Ty -1 =y - 1

(BIOH A7) (VTTRTTH)
(a) oHdeer (i) ;m-m%@f
(b) B3B 2LTOT (i) AEGT
(c) wWodeo (WonSB)Treers (i) Hedodsr
(d) ITITT (iv) @Ot

39N SoRNYY ABRT BroDICH, BOA.
Options :
86435114739, @ (H), (b)-(iv), (c)-(ii), (d)-(1)
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86435114740, (@)-(1), (B)-(v), (c)-(), (d)-(iii)
86435114741, @ (1), (b)-(1), (c)-(if), (d)-(iii)

86435114742, @)F-(1), (b)-(iid), (c)-(1), (d)-(i)

Question Number : 49 Question Id : 8643514909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:

Options :
86435114743, Glucose

86435114744, Fructose
86435114745, Galactose

86435114746, Sucrose

Question Number : 49 Question Id : 8643514909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ITEAF TRQT ﬁ'i;ﬁ ‘A7 0T BOQFHRCIRA QTR CTITEHOIRMLE m?if-;ﬁméﬁ'ﬂﬂw‘ri@éa“%
QEWTL. AT A oW :

Options :

o)

olend

ki

86435114743. =

e o
: .
Skt ;_FN

86435114744.

ppleni. inlynd
86435114745, = &

DBRET

86435114746, "=

Question Number : 50 Question Id : 8643514910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :

Options :

86435114747, NO2

86435114748, VO3

86435114749, NO

N,O
86435114750, 2

Question Number : 50 Question Id : 8643514910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

©PT0T, 1-MF TONT DD WALIFT ST
o et =i [] - [z =

oD LABODEN :

Options :

86435114747, NO2

86435114748. el

86435114749, NO

N,O
86435114750, 2

= AN

T

Chemistry Section B
Section Id : 864351328
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351328
Question Shuffling Allowed : Yes

OF oI, YUTolRNAT
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Question Number : 51 Question Id : 8643514911 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 3 g of ethane gives x % 102 molecules of water. The value of x is

(Round off to the Nearest Integer).
Use : N, =6.023 x 10%%; Atomic masses inu:C:120;:0:16.0: H:1.0
A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514911 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 BT AP TpeFBha xx 1022 Jeds VERNTR, IRWRPI. x T O

(RRETT TRFOFOTY TWREF TWRTA)
[evzodeena : N, =6.023 x10%; TIo=mew &M% u 39 C:120;0:160;H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514912 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 52 Question Id : 8643514912 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX womd QTR decdedolr (F@FOCIREmT) wmmenm) B[ A D X Aw
SRIFIRFFIY HUBDe FIT peBbnvenD. wels ¥TT ATRO3T TFeT, AX & WOREEFowD
25 8NT. AX TQ wid adiaTie Kojom . (REDETT TRTOFOTY TREFTIRTA)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643514913 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CH, — GH, +H,
the reaction enthalpy A H= k] mol 1. (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1.C—-C:347, C=C:6l1;
C—-H: 414, H—H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514913 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g sobmnh GHy — GH,+H,

30iR @oFedodn A H= k] mol~! sAd. (Bnema :Lc;m?oﬁ'u; TREAFTRPA)
[d% : 205 @Gﬁgﬁﬁ: k] mol ! F.‘J"Q_ : C=C:3M7,C=C:611;C—H: 414, H-H : 435}
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 54 Question Id : 8643514914 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is »x10~ 3 (Round off to the Nearest Integer).

[Given : Molal depression constant of water = 1.85 K kg mol !

Freezing point of pure water =0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514914 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
DWFo g HA ob 2 Sreecne’ mopem) 3.885 °C I@, PResvn RowmEm, Beodd. 33
PRT DO3RCKTOTH) (VoIRCKT TRIR)F) X103,
(BE0eTT TR 0T TREVFTIRA)
[ T2 : Qe0F PBeeRe® B A0DI0F =1.85 K kg mol !
W™, V0T FaeTee Vo = 0°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514915 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acetic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid) =4.74]

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514915 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

pH =574, 503 (900 X3TReTT) maReowa), 303POTLR, FReBONTF WALl wm, VAT
S AeOITRNT. FTNWBETYOD VAT ST FT300N 1.0M ST3, RIWRHRTIS
ARCBODTT WALEFT T30WW M. (ReReTT TRTFOTY TRLFNRTA)

[Cj% : pKa (@2uls E-ﬁ;} =4.74]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643514916 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe?* (aq) + 21~ (aq) — 2Fe?* (aq) +Ly(s)
the magnitude of the standard molar free energy change,

[+

A/G,=-___ k] (Round off to the Nearest Integer).
B’ g2t /e = ~ 040V E L s = — 0036V
E°l/y- = 0539V;  F=96500C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643514916 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

85 odomon
2Fe3* (aq) + 21~ (aq) — 2Fe?* (aq) + L,(s)
5 Seewer’ BNE I3 WTRTE TR,

]

AGn=—___ K] (RReTUT TRmEF 0T, TRFTIRDA)
| Erertyme T T VAN VB g peg™ T 056V
T ¢ |E° - = 0539V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514917 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cly(g) = 2 NOC(s)

This reaction was studied at —10°C and the following data was obtained

run [NOJ, [CL,], Iy
1 0.10 0.10 0.18
2 0.10 0.20 .35
3 0.20 0.20 1.40

[NOJ, and [CL,], are the initial concentrations and r is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514917 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

2 NO(g) +CLy(g) = 2 NOCI(s)
gododa), 10 °C ohQ W IBRHAER, §YNT0E TT0oINEDY, TBCDUNS.

WO (Uﬁf] [N'D}{] [Clz]ﬂ To

1 0.10 0.10 0.18
s 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, &= [CL], nsd spooRs MTSN¥ohal & 1, &) STU0PT §osRUen=oNy. FoLOD
2.t300 303TONF (TILSF )00 . (REDETT TRTIF0FT, TREVFNRTA)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514918 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K,[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514918 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

moderer K;[Cr(oxalate);] 8¢ 30wt 2t BeeRobet S50FNY Fo5000
E b 3 & & B il

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 59 Question Id : 8643514919 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,O) if the percentage yield is 64. (Round off to the Nearest
Integer).

|Given : Atomic masses : C:12.0u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514919 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe5TETIT 64 T, LLIVTS0IBN, 7.8 MFFIR, wdRedT® (MW =56) (C;H,0) =, Sroden
QEFOEFCRNAPAWTTILE 3-T W08 VTR (MW =74)3) MErngg.
(A0EeTT TRTFOTE TROFIRTA)

[d% : Atomic masses : C:12.0u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514920 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A reaction of 0.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10~1

[Given : Atomic masses : C:120u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric

, when n= . (Round off to the Nearest Integer).

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514920 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.1 Sper PodTreRNT, BerSeengdes Hrd IEFa 23 MITFIW, Bode* & g

©BRR0DT BerE’ Bemdam. 85 3oy

o3, nx10~! &, TMTT n=

-
o

. (RNETT TRTOFOTY, TREFNRTA)

clrmzernad derendes’s Breefny

e

[d% : Atomic masses : C:12.0u, H:1.0u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id : 864351329
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351329
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643514921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the functions are defined as f(x)= Jx and 2(x) = ¥1 — x, then what is the common

domain of the fnllnwing functions

(f * g)(x) =f(x) * g), (f/g)x) = L2
g(x)

f+g, f—g fe. g/l g—f where
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Options :

86435114761, U = ¥ <1

86435114762, 0 <x <1

86435114763, 0 =1 =1

86435114764, V<x =1

Question Number : 61 Question Id : 8643514921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(x) = Jx DB g(x) = VT—x Q0T 0B NI[ATR, RN, ToMRES f+g,f-g,

f/9.8/f 8~ f(R(f + 9)x) =f(x) + (), (f/g)@) = %3 D08 WUIIE WERE, I -

Options :
86435114761, 0 = x <1

86435114762, U <x <1

86435114763, 0 =1 =1

86435114764, V<x =1

Question Number : 62 Question Id : 8643514922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the equation a|zf* + @z + «z + d = 0 represents a circle where a, d are real constants,

then which of the following condition is correct ?

Options :
86435114765, |@/>~ad = ODand ae R
c6a35114766. (@7 ad >0and ae R {0}

2 :
86435114767, 1@/~ — ad =0
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PR i b
86435114768, @=0 a de R

Question Number : 62 Question Id : 8643514922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a @3 d g moR= ATeoTmomN, alz +az + az +d=0 D0 RDeFTeow) = I@AD,
- - ] el -,

1

TANOATT, TY¥T0RE oln® AnoPHo TOCRAD 7

(€

Options :

aff—-ad =0z aeck
86435114765. =

al2—ad >0zh3 a e R—{0)
86435114766. e

2 =
86435114767, (@~ — ad =0

i ; b
86435114768, @=0-a de R

Question Number : 63 Question Id : 8643514923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 0 | 2 1
3l and 2A-B=|2
1 0 1

Let A+2B= If Tr(A) denotes the sum of all

N Ch =
LT L T
| B R ) |

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435114769. 1

86435114770.
86435114771, 3

86435114772, U

Question Number : 63 Question Id : 8643514923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

0
3| @3 2A ~B=
1 (

1
A+2B=| 6 . Tr(A) 20wt ASRIIoD B@eFoIng

W W bk
[ I ]
M O

() |
—
-

SRS8wmens Tr(A)-Tr(B) ob ddoko :
Options :
86435114769, 1

86435114770.
86435114771, 3

86435114772, U

Question Number : 64 Question Id : 8643514924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let «, 3, ¥ be the real roots of the equation, ¥ +axZ+bx+c=0, (a, bce Rand a, b= 0). If

the system of equations (in u, v, w) given by au+prv+yw=0; putyv+aw=0;
i

vyu + av + fw =0 has non-trivial solution, then the value of = is :

Options :

86435114773. 0

86435114774, 1

86435114775. 3

86435114776, 2

Question Number : 64 Question Id : 8643514924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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a, b ce R&DB a, bz 0aWN o, p DI y N0 2> +axr?+bx +c=0 HWeITRT THRONTOAS.
(1, v, w I9D) au+pr+yw=0; Bu+yr+aw=0 DB yu +av + Pw=0 FPeITLENT B )
(o =L [N

e
: i 2 i &
LRIV D, :‘:ﬁamﬂﬁﬁﬂ TRoO :.F o o WSO
Options :
86435114773. 0

86435114774, 1

86435114775. 3

86435114776. 2

Question Number : 65 Question Id : 8643514925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
1S :

Options :

86435114777, 22264

86435114778, 26664
86435114779, 122234

86435114780, 122664

Question Number : 65 Question Id : 8643514925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1, 2,208 38, wmcdeend 4 ©odny Fed Ped FoLNnvmy J[BETN LN
2 u?%@
Options :

86435114777, 22264

86435114778, 26664
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86435114779, 122234

86435114780, 122664

Question Number : 66 Question Id : 8643514926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x%)0=a +a,x+ax?+...+a,x%0. Then, a,+a,+a;+.... hay is equal to :
Options :
71‘3{72'[] | jlj
86435114781. = *~ =
jH]{jE{] | 71]
86435114782. = '~ &
21‘3{22{] 21]
86435114783.
23]{22{] 21]
86435114784.

Question Number : 66 Question Id : 8643514926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(14+x+2x%) 0 =a, +a,x+a,x+ ... +a,x Vo0 a,+a+a.+.... Faz, & WE0OTN
Options :

197220
86435114781, 2 (2 T21)

?Hq?
86435114782. = =~ E

21‘3{22{] 21]
86435114783.

EH]{EZ{] 21]
86435114784.

Question Number : 67 Question Id : 8643514927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of 3 4 1 is equal to :
4 4
1
3+ {
4 4
34+ ... x

Options :
86435114785, 12 T V3

-
86435114786, 2 T V3

e ly

86435114787. -

86435114788, 4+ V3

Question Number : 67 Question Id : 8643514927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 L
3 4 - ob Dok
44
1
3 4 ;
4 1
34+ ... x
Options :
86435114785, 1= T V3
86435114786, 2+ V3
3203

86435114787. -

86435114788, 4 T V3

Question Number : 68 Question Id : 8643514928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 :
[ [ oo [ —21 is equal to :

. £ £—1 (201)

e | g | 7
Options :
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25

86435114789, 101

101
86435114790, 108
99

86435114791, 100

101

86435114792, 404

Question Number : 68 Question Id : 8643514928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1
I I i =

32-1 5°-1 7
Options :

25

86435114789, 101

101
86435114790, 108

99
86435114791, 100

101
86435114792, 404

Question Number : 69 Question Id : 8643514929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a, p are natural numbers such that 100%— 1998 = (100)(100) + (99)(101) + (98)(102) 4
ceee 1(1)(199), then the slope of the line passing through («, ) and origin is :
Options :

86435114793, 210
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86435114794, 230
86435114795, 540

86435114796, 2950

Question Number : 69 Question Id : 8643514929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a, p N0 TR ROLAFINTR, 100%- 1998 =(100)(100) + (99)(101) + (98)(102) + ..... F(1)(199)

¥

STT., (o, B) T, DROVOWIT DIRVE TITNIRTRE TesloD @WRTOD ¢

G

Options :
86435114793, 210

86435114794, 230
86435114795, 240

86435114796, 290

Question Number : 70 Question Id : 8643514930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.l
|— x| =1
If f(x)=4I% is differentiable at every point of the domain, then the values of

faleb; x|<1

a and b are respectively :

Options :
1 1
86435114797, = 2
2
86435114798, 2 2

e
2 "

[

86435114799.
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| 3
86435114800, 2 2

Question Number : 70 Question Id : 8643514930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f(x)=<I% Q0 YU3TH) FID TERoMaTOR ©0E, B ATEN,@ET,
. } o ey — — &3 Bl o= £ ol =,

gaon a R bod BSodd :

Options :
i i
86435114797, = 2
2
86435114798, 2 2

R o
b | 2

86435114799.

| w2

1
86435114800, 2 2

Question Number : 71 Question Id : 8643514931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec lx

sx — |x]

equal to x, is defined for all x belonging to :

The real valued function f(x) = , where [x] denotes the greatest integer less than or

Options :

26435114801, 21l reals except integers

86435114802, all reals except the interval [ -1, 1]
36435114803. all non-integers except the interval [ — 1, 1]
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26435114804, I integers except 0, — 1,1

Question Number : 71 Question Id : 8643514931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[x] oo N0 Temeros = xShTY, f(x) = %[;@0&3 WOAD WD YOI
X X

»

3YB0RE 03RB xR WOWORATOZ T iﬂ 9

! I

Options :

TRFF OFINYR, BTRTDTRA 2oy WoAR o N
86435114801. - T N

[—1,1] ®03Rv=m, BRTUDTRD 2T =oAD Jo5Ned
86435114802. = e e

[, 1] ©03TYTW, TRTDTRA 2R YTLTFOIND

86435114803. - '

0, —1,1 BTRTDTRL QY TRTFOIND
86435114804. '

Question Number : 72 Question Id : 8643514932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[ lim sin"1x — tan” 'x

is equal to L, then the value of (6L + 1) is :
x—0 i q ( )

Options :
1
86435114805, ©

86435114806. ©

86435114807, 2

Mln—d'

86435114808.
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Question Number : 72 Question Id : 8643514932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 -1
i 5111 X tan x N, D gy
Bl . —Lexd, bL+1) 8 &3

3x

Options :

o | =

86435114805.

86435114806. ©

2

86435114807.

M| =

86435114808.

Question Number : 73 Question Id : 8643514933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cosy(2x — 1)

‘..'I-—lx?‘ dx + 6

2

2x
The integral _[( dx is equal o :

(where c is a constant of integration)

Options :

it
;sin\f{h' I 'l]2 il
86435114809. <

2

%sinq'r{zx 1" +5+e

86435114810. =

1 :
—COS-.JI{ZI 'l]2 F 5 ¥
86435114811, 2

2

1
;cns«\.'ll(zx F1) 5 ¥
86435114812, =

Question Number : 73 Question Id : 8643514933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

-2 2x 1]4:05\]'(2:( 1)2 D
ERVL S I( r
Vix?

dx + 6

C O UFTOIT 4 TH0TaND)

Options :

a
;sin\f{h’ I 1]2 5 + ¢
86435114809. <

1
—sﬁ‘nJ{Ex 1]2 FD + ¢
86435114810, 2

|
—cos«hfr{Ex 1]2 F5 + ¢
86435114811, 2

3
—cos«,.ﬁr{Ex I 1]2 S+ ¢
86435114812, 2

Question Number : 74 Question Id : 8643514934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas y*=4a(x + a) is

Options :
"
dy ) d
86435114813, . dx) L dx )
y[d—yw I El[d—yw Y= 0
86435114814, dx/ \dx )
2
y[d_y] l‘t{d—yw Fy =0
86435114815, ¥/ dx )
dy )2 5
86435114816, 9%/ \dx )

Question Number : 74 Question Id : 8643514934 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y?=4a(x+a) 200 TOBLOH MYIW, SATRWT UBSRETT AWeFTTY

Options :
2
F{d—ﬂ ' h{d—ﬂ y=0
86435114813,  .dx L dx )
86435114814, X/ \dx )
dy 2 d
y —‘ﬂ 2 —ﬂ by =0
dx dx
86435114815. J dx
(dy2 d
dx dx
86435114816. J \dx )

Question Number : 75 Question Id : 8643514935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2 yz 10x— 10y +41=0

x2 4 yz 22x - 10y +137=0

Options :

6435114817 circles have two meeting points

26435114818 circles have no meeting point

26435114819, circles have only one meeting point

86435114820 circles have same centre

Question Number : 75 Question Id : 8643514935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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24y -10x—- 10y +41=0 @22y x*+y*-22x-10y+137=0 200 HTE HFNY
AanesTeenvonsds. 3 FBNen ToWoHATOZ HOOIRT Fﬂﬁﬂéﬁﬁ&"‘% SEvEIcks)
Options :
[N 0D VoTPRTY AOHASTH

[ - [

86435114817.

St cIRYde LoPITY ToHTWROY
86435114818. ' '

FE FeSo 2.0 VOITY =[wE, HoHRTE
86435114819. =~ ' =

Q0AR B3N wode Fconmmh, BRoOS
86435114820. P ~ R

Question Number : 76 Question Id : 8643514936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : x> +y*=1

Circle N : 22 +y>—2x=0

Circle O : 22 +y?2—2x—2y+1=0

Circle P : x2+4 yz 2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,

centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435114821, Rectangle

86435114822, Rhombus

86435114823, >duare

26435114824, | arallelogram

Question Number : 76 Question Id : 8643514936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M, N, O30 Prist Toex, S3neench) ©yny Bwessens §¥30E03

P s,
B3 M : a2 +y?=1
B3 N : 22 +y?—2x=0
[

2 " -
B2 0 : 2 +y?—2x—2y+1=0
S2 P: a2 +y?-2y=0
MR2E scotmar, NRST seolg Aedoad, Nn3n fcommm, Oxn3T eods, 0=z
[ — =, 2l ¢ =] [ — =, [ =¥ [

deomway, PRIT Feomd mene dedcng PIZT feolmd, M IIE $comg Aedawmen
SUotTRMNE Tedns 39303 ©5 ol mENnventhsss.

Options :
e,

86435114821, SO0

wT0T.S
86435114822. —~
86435114823.

D@mR0SBT W¥ILNFE

86435114824.

Question Number : 77 Question Id : 8643514937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :

86435114825, U

86435114826, |

86435114827, 2

86435114828, 2

Question Number : 77 Question Id : 8643514937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3x+4y=9 WJW y=mx+1 200 TeSBNH ZTOQRATRN LVOLRMT FeTT VWODIT 3SHY
2,000 TRFFF 08000, m 0w WRFTFOT BSoD e ﬁos%oit :
Options :

86435114825, U

86435114826, 1

86435114827, 2

86435114828. 2

Question Number : 78 Question Id : 8643514938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan” (2] with the straight line, ¥ + 1= 32 x is:
Options :
86435114820, V2 x +5y — (15 +42) =0

s6a3s114830, V2 * — 5y — (5+442) =0

86435114831, 5V2x +4y — (15 + 442) =0

86435114832, V2 X +5y — 442 =0

Question Number : 78 Question Id : 8643514938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1, 3) VOWAT FRUT TOWDTRT IR .y F1=3V2 xdeslod ®e3r .tan_l (V2)
BRCTTWOWTRS 20T FTYTesIoD BWeITRY IFTOB/OST

Options :

86435114809, W2 x +5y — (15+442) =0

sca3s114g30. V2 X~ 5y — (5+442) =0
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86435114831, OV2x +4y — (154 42) =0

: ) P —
86435114832, W2 X +5Y — 42 =0

Question Number : 79 Question Id : 8643514939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

. 7 . B - )
1+sin"x sin~x sin”x
cos’x 1 + cos2x cosZx| = 0,(0<x<-w), are:
4 sin?y 4sin2x 1 + 4 sin2x
Options :
L
86435114833. 6 6
.

86435114834, 12 12

Vi 11w
86435114835, 12 12

o o
86435114836, 12 ©

Question Number : 79 Question Id : 8643514939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . B . 3
1+ sin“x SN~ X SN X

cos’x 1+ cos’x cos® x| = 0, 0<x <)

4 sin?y 4sin?y 1+ 4sin2y

Q0L ReNCTURT WOTO0Y) :

Options :
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86435114833, ©

86435114834, 12 12

Vo 11+
86435114835, 12 12

B )
86435114836, 12 ©

Question Number : 80 Question Id : 8643514940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
A vector a has components 3p and 1 with respect to a rz:-ctangula_r cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
i .

with respect to new system, a has components p+1 and /10, then a value of p is

equal to:

Options :

86435114837, 1

86435114838, 1
4
86435114839, 2

o
86435114840,

Question Number : 80 Question Id : 8643514940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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>
Sp A 1NN ADT a N STMVRENID FEEDTRAT LFPF0T TG E0R YLTRONNTIND.

8 QGeF U8 IP 300, MRONCTRLT 060 QOFT SRETHEL0M SRWEH0S YTTHIRoIRN

SLNAT. WS TRT ATFTE IPSoRY a I LTRONNRL p+13F, {10 NRTT p o
talafeniviE

Options :
86435114837, 1
86435114838, 1

4
86435114839, 5

£l
86435114840, 2
Mathematics Section B

Section Id : 864351330
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351330
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514941 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let z,, z, be the roots of the equation z*+ az+12=0 and z,, z, form an equilateral triangle
with origin. Then, the value of (a| is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 81 Question Id : 8643514941 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2

OTINED

L]
':-15
£

Z) R 7 NW 2z
ATIRE SB[ IRBET |a| 8 LS

taz+12=0o0% RRETTRT DRONTIND), z), 2, DB TL

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514942 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x%) +g(4 —x)=4x" and g(4 — x) + g(x) =0, then

the value of I f(x dJL R
-4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643514942 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

flx) 3B g(x) 20w 0B WIFT AP f(x?) +g(4—x)=4x3 3 g(4 —x) +g(x)=0 Q0

Cls

RDCFTEINTT), FRATRAT

4 "J
3 [ f(x*)dx & e3Som0
-4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
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Question Number : 83 Question Id : 8643514943 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 3 ~_ B :
™ +7x ’
If f(x)= _[ g — dx, (x = 0), f(0)=0and f(1)= i., then the value of K is
(x2 +1+227) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514943 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥, .0 ’
. 5x° + 7x . o
x = 0amn flx)= | > dx TORR  f(0)=0 T f(1) =

(x2 +1+2x7 ) "

L
K

[SEag e}

K=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643514944 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve x*y>=1. The midpoints of its sides also lie on

the same curve. Then, the square of area of ABCD is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 84 Question Id : 8643514944 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABCD @ow &nFd o Jonnsd x%y?=1o0w @Fdefohdd. w9l InFd ooy momne
PLOTNG Qe R/oeasod =0edyT ABCD od i@ﬁ@d @RNF ) _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514945 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the plane ax+ by +cz+ d=0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at

the right angles. If a, b, ¢, d are integers, then the minimum value of {az Fb2 + 2 4 dzj is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514945 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
ax+by +cz+d =000 ARNIOF, (4, 3, 1)IA (2,3, —5) WomwNF, AeOATRN LLOLRMLD
Jesd o:;:m% Tandne aa‘ﬁl:%c-m DREWoE @HFAT. a, b c dny TeHOFOINTIRO
(@ +b*++dh) 3 sy 23S0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514946 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The equation of the planes parallel to the plane x— 2y + 2z — 3 =0 which are at unit distance
from the point (1, 2, 3)isax+ by +cz+d=0. If (b —d)=K(c—a), then the positive value of K
15 D

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514946 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2y +2z-3=0 200 ADSOF FBPOSTTNST WA (1, 2, 3) 208 WOWAOT ISP

TRUDYTLE ATWIOT MWeI0Rw) ax+by+cz+d=0&hd. (b-d)=K(c—a) =t0 Ko

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514947 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is
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The number of times the digit 3 will be written when listing the integers from 1 to 1000 is
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The number of solutions of the equation |cotr| = cotx + —— in the interval [0, 27] is
siny
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